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11.8.1.3.2
Baseline Procedure

The Serving Grant Update procedure shall be applied at every TTI boundary and shall take into account the Absolute Grant message, Serving Relative Grant and non-serving Relative Grants that apply to the TTI. 

The UE shall:

1>
set Non_Serving_Grant_Received to “False”;

1>
set reference_ETPR to the E-DPDCH to DPCCH power ratio used for the previous TTI of this HARQ process;

1>
if any Non-serving Relative grants indicate "DOWN" for this TTI:

2>
set Serving_Grant = MAX(reference_ETPR - RG_step_size, Minimum_Grant);

2>
set Non_Serving_Grant_Received to “True”;

1>
if an Absolute Grant was received for this TTI:

2>
if the Grant Type is “Primary”, and the Absolute Grant Value value is set to “INACTIVE”:

3>
if Absolute Grant Scope indicates “Per HARQ process”:

4>
de-activate this process;

3>

if Absolute Grant Scope indicates “All HARQ processes”:

4>
activate all HARQ processes;
4>
if Secondary_Grant_Stored is set to “True”:

5>
set Grant_Available to “True”;


4>
else:

5>
set Grant_Available to “False”;


4>
set Zero_Grant to “False”;

4>
set Serving_Grant = Secondary_Grant_Value;

4>
set Primary_Grant_Available to “False”;

2>

else if the Absolute Grant Value is different from “INACTIVE”:

3>
set Grant_Available to “True”;

3>
if the Grant Type is “Secondary”:
4>
set Secondary_Grant_Stored to “True”;

4>
set Secondary_Grant_Value to the Absolute Grant Value;

3>
if the Grant Type is “Primary” or Primary_Grant_Available is set to “False”:
4>
if the Absolute Grant Value value is equal to “ZERO GRANT”:

5>
set Serving_Grant = Minimum_Grant;

5>
set Zero_Grant to “True”;

4>
else:

5>
set Zero_Grant to “False”;

5>
if Non_Serving_Grant_Received is set to “True”:

6>
set Serving_Grant = MIN(Absolute Grant Value, Serving_Grant);

5>

else:

6>
set Serving_Grant = Absolute Grant Value;

4>
if the Grant Type is “Primary”:

5>
set Primary_Grant_Available to “True”;
5>
if Absolute Grant Scope indicates “Per HARQ process”:

6>
activate this process;

5>

if Absolute Grant Scope indicates “All HARQ processes”:

6>
activate all HARQ processes;
1>
else, if a Serving Relative Grant was different from “HOLD” for this TTI, and

1>
if this HARQ process is active, and 

1>
if Primary_Grant_Available is equal to “True”, and

1>
if Zero_Grant is equal to “False”:

2>
if the Serving Relative Grant indicates "UP" and if Non_Serving_Grant_Received is set to “False”:

3>
set Serving_Grant = reference_ETPR + RG_step_size;

2>

else, if the Serving Relative Grant indicates "DOWN":

3>
if Non_Serving_Grant_Received is set to “False”:

4>
set Serving_Grant = MAX(reference_ETPR - RG_step_size, Minimum_Grant);

3>

else:

4>
set Serving_Grant = MIN(reference_ETPR - RG_step_size, Serving_Grant);
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